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In a Physics lab, two carts of varying mass collide on a low-friction track m
such a manner that the system can be considered as an isolated system.
The before- and after-collision velocities of the carts are represented by
veetor arrows. Which vector represents the after-collision velocity of cart
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MCS  Momentum Conservation

Momenrum and Callisions

In a Physics lab, two carts of varying mass collide on a low-friction track in

Answer:
such a manner that the system can be considered as an isolated system. !
The before- and after-collision velocities of the carts are represented by EE:}
vector arrows. Which vector represents the after-collision velocity of cart Check Answer
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MCS Momentum Conservation

The magnitude of the before- and after-collision momentum of two colliding
objects are shown in the diagram below. The direction of the momentum is
indicated by the arrows. The change in momentum of object Ais _ kgx LelC]
m/s. The change in momentum of object Bis kg x m/s. Enter the Cheek Answer
letters of the two answers in their respective order with no ¢ommas or

spaces between letters. (Assign a negative value to all leftward momentum

Answer:

va]ucs.) Progress  Health
a. -15 b. -5 c. 5 d. 10
e. 15 f. 45 g 60 h. 75

1. None of these choices appropriately fill in this blank.
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MC3 Mementum Conservation

Object A and olbject B undergo a collision in an isolated system. The vector
arrows shown in the diagram below represent the before- and after-collision Answer:

momentum of ol‘)jcct A and object B. Which vector best represents the :E
magnitude and direction of the momenturn of objeet B aft
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M7 Aoiuennim Conservarion

In a Physies lab, a 1.8-kg brick is dropped from rest upon a 4.6-kg cart
moving cast with a speed of 2.1 m/s. After the collision, the brick and cart
are observed to move east with a speed of 1.5 m/s. Fill in the momentum
table and determine if momentum is conserved (within 1 percent). (Use the
notation that east is the positive direction and west is the negative direction.)
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Momentum in kg « m/s

Before Collision

After Collision

Is momentum
conserved?

Dropped Brick

O
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0.4

Enter 1 for Yes

Total for System

4.bb

4.l

and 0 for No.
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ME8  Problem Solving - Inelastic Collisions

In a physics lab, a 0.750-kg cart (A) moving east at 53.0 em/s collides with
a 1.250-kg cart (B) which is moving cast at 18.0 em/s. The two carts are
equipped with Velero strips which allow them to move together after the
collision. Assuming the system is isolated, fill in the momentum table and
determine the final velocity of the carts. Use the notation that east is the
positive direction and west is the negative direction.

8

Momentum in kg ¢ crvs

Before Collision After Collision Enter the final
velocity in m's.

Cart A ’bq:‘?'% ia.%% : '
CartB 17,5 2% .4l _““' L ‘

Total for System w 2« R 25; (ﬁ Z‘ ’2 5

pepe At
fopam —> V=1
s

HY(}%
__5
7 el
O ¢

Precton - @4 158 than &b . ;
but 3{6’«%&{ than V<

= AN
V ( 2 ¥9 >
N

545 %% 22.5%% |

)

(5%% rxswf) ¥ (&‘Zéﬂ;\(\% wg)
| N

| 125 ™S |
NOW, (ALCULATE N fr each r A+ ofer

1¢,41 k-

23,04 g <%



Py £ A
Klome ntun and Collisivns 6 M }J ‘6’ ff/ % ﬁ’/‘?

MC%  Problem Solving - Elastic Collisions

In a physics lab, a 0.500-kg cart (A) moving east at 38.0 cm/s collides with
a 0.750-kg cart (B) which is moving west at 64.0 em/s. After the collision,
Cart A moves west at 84.0 em/s. Assume the system is isolated. Fill in the
momentum table and determine the final velocity of Cart B, Use the

notation that ¢ast is the positive direction and west is the negative direction.

W

Momentum in kg « cmv/s

Before Collision After Collision
Cart A ( /3 - 47,
Cart B - 49 +1%
Total for System -24 e 14
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& In & Physics lab, a cart with a mass of "M’ is moving with a speed of 60
= % o @%\ cm/s. It collides with a stationary cart with a mass of '"4M’. After the
L |t collision, the two carts stick together and move with a speed of
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